Day 6 Quiz

. The purpose of the Tripartite Pact (mutual defense treaty) made by the Axis
Powers was to

a. threaten Great Britain with war.

b. protect themselves while keeping the US out of war.

Cc. annex countries for Germany.

d. antagonize the US into the war.

. This plan in 1941 allowed the United States to provide arms to warring
countries as it found a loophole in the various Neutrality Acts that were
passed a few years before.

a. The Warsaw Plan

b. The Lend-Lease Act

c. The Peruvian Pact

d. The Schwitzer Summit

. FDR gave the US Navy permission to attack this group in self-defense as they
sent convoys over to help some of the Allied forces. Who was this group
attacking the convoys?e

a. Austrian Anschlussers

b. Italian Soldados

c. German Wolf-Packs

d. Russian Bombers

. Under the Atflantic Charter, Churchill and Roosevelt agreed to
a. Assassinate Mussolini

b. Sell old aircraft to Britain

c. Have a democratic world post-war

d. Assassinate Hitler

. Even though America had decoded a message from Japan stating America
would be attacked, the military thought Pearl Harbor was protected
because

a. The US Pacific Fleet was extremely strong.

b. Hawaii was too far away.

c. Japan was negotiating peace with America.

d. Hawaii was not a strategic location that another country would want.



